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QUESTION 1

Different types of events are reported to the Service Desk. Which event is an incident?
A. Information about the rollout of a specific application

B. A notification that a new toner cartridge has just been installed in a printer

C. A report that the printer is not working

D. A request for the installation of a new bookkeeping package

Correct Answer: C

QUESTION 2

Which aspect of the IT-Service Industry is considered to be one of the most important, but also one of the most
difficult?

A. constant quality

B. incorporating technological innovations

C. innovating the way services are provided

D. methodological order based on best practices

Correct Answer: A

QUESTION 3

When can the building and testing of a Change begin?

A. As soon as the impact analysis has been discussed by the members of the Change Advisory Board
B. As soon as there is a correct network plan for the change

C. As soon as the Request for Change (RFC) has been formally authorized

D. As soon as the Request for Change (RFC) has been classified

Correct Answer: C

QUESTION 4
Which process aims to prevent incidents resulting from changes to the IT infrastructure?

A. Availability Management
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B. Change Management
C. Incident Management
D. Problem Management

Correct Answer: B

QUESTION 5

A Change leads to a modification of an IT element. Which of the following terms best describes the element being
modified?

A. A developed application
B. A Configuration Item

C. A Service

D. A deployed infrastructure

Correct Answer: B
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